# **Perth Modern School**



YEAR SEVEN
2024

24 847 07 B

ALL ORDERS MUST BE COMPLETED
Online at
www.campion.com.au
by

Friday 8th December 2023 Using "FGGB" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

#### PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier if placed on or before Friday 8th December 2023.

All orders placed on or before Friday 8th December 2023 will receive FREE home delivery. Any orders placed past this date will incur a late fee of up to \$17.50.

If you prefer the "while you wait" option at our Canning Vale retail service centre the address is:

CAMPION EDUCATION: 25b Baile Rd, Canning Vale WA 6155.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



## Please tick the items required in the box provided $\downarrow$

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR SEVEN					
	GENERAL REQUIREMENTS REQUIRED FOR ALL STUDENTS (retain for	r future y	/ears)			
P50345	Earphones Ear Bud Stereo Ultra Lightweight With Adapter (or similar)	1		1	14.75	14.75
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	2		1	14.05	14.05
P51967	Calculator Casio Scientific FX100AU Plus 2E	3		1	60.45	60.45
	(or similar non-programmable scientific calculator - required for Mather	matics a	nd Science)			
P16824	Study Hacks: Your Survival Guide for High School [DR Jane Genovese]	4		1	21.95	21.95
	(Required for all students)					
F52969	Perth Modern School Student Diary	5		1	21.00	21.00
	(Please pay Campion. Diary will be provided in class) (Required)					
F52970	Perth Modern School Portfolio	6		1	8.00	8.00
	(Please pay Campion. Portfolio will be provided in class)					
F61625	The Successful Mind at School, Work and Life	7		1	21.00	21.00
	(Required for all students, please pay Campion will be provided in class)					
D50540	ARTS (7ART1/7ART2)					
P58510	Eraser Plastic Pencil Large With Sleeve	8		2	0.40	0.80
P52001	Pencil (2B) Goldfaber	9		4	0.65	2.60
P56677	Visual Art Diary A3 60 Sheet 110gsm	10		1	9.95	9.95
	DRAMA (7DRA/7DRA2)					
P55450	Students will be required to have three juggling balls for Year 7 Drama Display Book A4 20 Pocket Yellow Refillable	11		1	2.15	2.15
	ENGLISH (7ENG1/7ENG2)					
P50510	Display Book A4 20 Pocket Mid Blue Refillable	12		1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	13		3	1.65	4.95
P58197	Visual Art Diary A4 60 Sheet 110gsm	14		1	6.00	6.00
	CHINESE BACKGROUND LANGUAGE (7LCBL1/7LCBL2)					
P05743	Chinese Made Easy Bk 1 Workbook (Simplified Character) 3E [Yamin Ma]	15		1	54.95	54.95
P50474	Chinese Character Writing Book A4	16		1	6.25	6.25
P55442	Display Book A4 20 Pocket Black Refillable	17		1	2.15	2.15
P50667	Grid Book A4 96 Page 10mm squares	18		1	2.10	2.10
	CHINESE SECOND LANGUAGE (7LCSL1/7LCSL2)		_			
P05743	Chinese Made Easy Bk 1 Workbook (Simplified Character) 3E [Yamin Ma]	19		1	54.95	54.95
P50474	Chinese Character Writing Book A4	20		1	6.25	6.25
P55442	Display Book A4 20 Pocket Black Refillable	21		1	2.15	2.15
P50667	Grid Book A4 96 Page 10mm squares	22		1	2.10	2.10
D07000	FRENCH SECOND LANGUAGE (7LFSL1/7LFSL2)				40.00	40.00
P07683	Tricolore Grammar in Action Workbook 1 (5E) [Honnor et al]	23		1	10.90	10.90
P55442	Display Book A4 20 Pocket Black Refillable	24		1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	25		1	1.65	1.65
D00255	ITALIAN SECOND LANGUAGE (7LISL1/7LISL2)	00		4	05.05	05.05
P00355	Ecco Uno Activity Book 2E [Trevisan]	26		1	35.95	35.95
P55442	Display Book A4 20 Pocket Black Refillable	27		1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	28		1	1.65	1.65

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	JAPANESE SECOND LANGUAGE (7LJSL1/7LJSL2)					
P15583	iiTomo 1 Activity Book 2E [Burrows et al]	29		1	25.50	25.50
P55442	Display Book A4 20 Pocket Black Refillable	30	$\overline{}$	1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	31		1	1.65	1.65
	7PHOTO1/7PHOTO2					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	32		1	14.05	14.05
	MATHEMATICS (7MATH1/7MATH2)					
P51124	Maths Set Helix Oxford 9 Piece	33		1	7.95	7.95
P50281	Document Envelope A4 PP With Press Stud Clear	34		4	1.25	5.00
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	35		4	1.65	6.60
	MUSIC (7MUS1/7MUS2)					
P50201	Music Pads A4 50 Leaf Punched	36		1	4.75	4.75
	(Must have black lines)					
P55442	Display Book A4 20 Pocket Black Refillable	37		2	2.15	4.30
P52001	Pencil (2B) Goldfaber	38		1	0.65	0.65
P56647	Tuning Fork Key A (Retain for future years)	39		1	17.55	17.55
	MUSIC (7MUSE)					
P01999	Musicianship & Aural Training Level 2 Student Book 2E [Smith]	40		1	27.95	27.95
P55442	Display Book A4 20 Pocket Black Refillable	41		2	2.15	4.30
P50201	Music Pads A4 50 Leaf Punched	42		1	4.75	4.75
P52001	Pencil (2B) Goldfaber	43		1	0.65	0.65
P56647	Tuning Fork Key A	44	$\Box$	1	17.55	17.55
	SCIENCE (7SCI1/7SCI2)					
P50114	Notebook A4 120 Page Q595/P595 Spiral	45		1	3.55	3.55
	TECHNOLOGY & ENTERPRISE (7T&E1/7T&E2)					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	46		1	14.05	14.05
	Food Science (REQUIRED): Reusable cutlery set and 1I reusable s	ealable conta	iner			
	SUGGESTED REQUIREMENTS: STUDENT CHOICE					
P55709	Dividers Index A4 5 Tab (Board)	47		1	1.10	1.10
P55522	Eraser Plastic Pencil Economy in sleeve	48		1	0.70	0.70
P55654	Glue Stick 40gm UHU Blue	49		1	3.35	3.35
P55097	Lever Arch File A4 75mm Board	50		1	5.35	5.35
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	51		1	3.80	3.80
P50271	Pencil (HB) Goldfaber	52		1	0.65	0.65
P56098	Pen Ballpoint Bic Cristal Blue	53		1	0.60	0.60
P56101	Pen Ballpoint Bic Cristal Red	54		1	0.60	0.60
P56414	Ruler 300mm Plastic Clear	55		1	0.75	0.75
P56240	Sharpener Pencil Barrel Single Hole (EL)	56		1	1.25	1.25

#### Please tick the items required in the box provided

Number of Boxes ticked:

Postage (Home delivery only) \$0.00

ESTIMATED AMOUNT DUE
(PRICES CORRECT AT 07/11/23)

☑ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Office Use

Description